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Important Instructions : Question paper is divided in three Sections—(A), (B)
and (C).
(i) @vE (37) & |l U T o A §)
All questions of Section (A) are compulsory.
(fii) @UE () TH (W) ¥ | &K ff Uk G 7 He &
Solve any one Section from Sections (B) and (C). .
(v) TO% @U€ & 3 Y F IW T & WE |/ fow
&1l
Write all answers of each section in same place.
(v) oifteRas Ws-H w1 Seord fadh Sgifaes weli & fag §

Maximum word-limit is only for the theoretical questions.
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@ug-( 31) / Section-(A)
AT i ur b & e SraiE

(Partnership Firms and Company Accounting)
PES () & welt e sifrard § 1w At 1 d 6 T ey ST
€1 9F I W 1 s Fruift &1 v 99T 1 S 7 W A 7 a1 &
® 7o AR e ot ¥

Instruction : Al questions of Section-(A) are compulsory. Question Nos. 1 to 6 are very

short answer type questions carrying 1 mark each. Answer these questions
in / word or / sentence and also include objective type questions.

TS ¥ -

Objective type questions :

-1

T T HRIER! A HIReR) # sifiesay e &) 9% €

(D 10 (%) 20
(M 50 () 30 [1]
In an ordinary partnership, maximum number of partners can be :

(@) 10 (b 20

(c) 50 d 30

eI G Y 1 3T Y 987 FLd §

(&) QU AR () T 9ERR

(%) |+ WERR (%) ¥ 9 5 & [1]

Profit or loss on revaluation is borne by :
(b) new partners

(d) None of them

(a) old partners
(c) all partners

HOTE U SATS % SFIAH HT Srafy gt &
(3 = e (F) ©: 9%

The interest on debenture is paid on :

(a) three months (b) six months

(c) one year (d) any time
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TEIRK! Hor@ & A9E | @y &1 fausa SR g §?

In absence of partnership deed how is profit divided?

URE H TIRERt e o T # wm e e sfufem sh-w 2 [1]

Which Act is applicable in India at the time of partnership firm’s

dissolution?

fer afetl X e =t < Fifera T At @ 2 [1]

On which shares dividend rate is not fixed?

. W 7 Y 10 9F Y 3909 W ¥ | welw wed W 3 3 et ¥ 1S
it Sferhad I~ 50 T R

: Question Nos. 7 to 10 are short answer type questions. Each question

carries 3 marks. Maximum word-limit of answer is 50 words.

T S 3 210 =T 50000 T i Frffi fve vl wf TR AT
AT | HTR F gl § TR st wifs 3]
A company issued 50000 equity shares of ¥ 10 each. All amounts

have been receive in lump-sum. Pass Journal Entries in the books of

company.

s fafie 3 £10 AT 15000, 12% YatfuraER i sren A Fifea fo
WﬂWW@ﬂétﬁﬂﬁgﬁﬁﬁﬁuﬁfqﬁaﬁmx (3]
Manish Ltd. issued 15000, 12% preference shares of ¥ 10 each to the

public. All amounts have been received in lump-sum. Pass Journal

Entries in the books of company.
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li'aﬁ‘?m#rf?zrz,oooq@aﬁﬁqﬁi@ﬂﬁlmwﬁfmoaﬁ fﬂh_ q
aHa siw Foffaa fdw ) el =1 qawl § 9o wfafieal dfeg, afe s

\ 3
20% Sfiftem w¢ fiifi fig g &) .
A company purchased assets worth % 72,000. It issued fully paid-up
equity shares of 2100 each at 20% premium. Pass Journal Entries in
the books of company.
[1x3=3]

SR Herw ¥ a1 A o 1 A Fraw fefa

Write three rules applicable in the absence of partnership deed.

¢ W SHE 11 T 12 Y 3909 7 & 1 90w W W 4 s Ruifa ¥ 1 verE
T R iafte fameq €

Instruction : Question Nos. 11 and 12 are short answer type questions. Each question

-1

U9 T-12

carries 4 marks and has internal choice. https://www.cgboardonline.com

wwmiﬁmﬁaﬁémaﬁmﬁm| [1x4=4]
Distinguish between Fixed Capital and Fluctuating Capital Account

(any four).
3erar / OR

@ﬁmﬁ%ﬁwwml

Write any four causes of creation of goodwill.

@Wﬁﬁﬁﬁﬁa%ﬁnmm%lmmﬁewﬁm%
313 37fed R 1 e o aet a sitaa @y 2 12,000 § | WEEHY Werg
%W,@Tﬁrmwﬁaﬁmw%aﬁq‘r%m%anmww

w1 R | @A 1 e Forapfer [4]

Capital employed by a firm is ¥ 1,00,000. Norma] return of
business is expected at 10%, Average profit of last three years ig
% 12,000. According to partnership deed, goodwil] is valued at two
years' purchase of super-profit, Calculate the value of goodwil].
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Alok and Ashok are equal partners in a firm. Their capitals are
¥ 20,000 and ¥ 16,000 respectively. Ashok is entitled to get salary of
¥ 600 per month. Interest on capital is 6% p.a. The profit of the firm

before the above adjustment was % 12,000. Prepare Profit and Loss
Adjustment Account.

Frer ¥ A 13 | 15 7F A 3900w ¥ wa@F I W 6 3 Fuife ¥
Y& W W Al faweg &)

Instruction Question Nos. 13 to 15 are long answer type questions. Each question
carries 6 marks. Each question has an internal choice.

UyT-13  TH FEA 4 T 100 a§ 2000, 5% Forgw Fifta feg) T 10 3dE

T 40 €A 99 I8 WYH F 3ifan §in w2 ¥ i gua af wra 81 T8 (e

! et d savges U wfafedl Fife

A company issued 2000, 5% debentures of ¥ 100 each. Amounts are
payable ¥ 10 on application, ¥ 40 on allotment and the balance on
first and final call. All the amounts were duly received. Pass necessary

Journal Entries in the books of company.

3rgar / OR

wrsd o fafaee 3 T 10 wa 39 % 10000 3w wm # fifira fag
ﬁmﬁummnmm@itnmmaﬁnqﬁm@

%rwmmaﬂaﬁﬂémﬂaﬁwﬁﬁﬁmaﬁml

Fine Art Ltd. issued to the
of T 10 each, payable a

Z 3 on first and final
the Journal Entries in the books of company.

public for subscription of 10000 shares
{ T 4 on application, T 3 on allotment and

call. All the money were duly received. Write

16}
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[6]
‘N’Qﬁi‘a'ww&z?ma@m%rﬂ‘a’aﬁtﬁﬁﬁwmﬁﬁ
#1 ewa ¥ 131 Rewmy, 2016 F) SR FagS ARG € :

(31 fewmy, 2016)

P ("f; dafrt | ARI(D)
TR 10,000 | {g ¥ 2,000
CRACEE 8,000 | FE 7,000
qeft— €9 Y 3,600

‘a7’ 6,000 HHAIE 400
‘T’ 4,000| 10,000 | 4 15,000
28,000 28,000

WA ;9 % YOV & g FrAfatea eeree fey 9m §—
() TR 1 e 250 feEm R

(i) fETa FON ¥F T 300 H AU FHA I Q|

(ifi) ¥ 600 Tafa g &

(iv) a1 EEER ‘|’ ¥ 4,000 Ysi 7 € 3,000 T ¥ foq wman &

ST G o SN T YA Tl F5¢ |

(6]
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(7]
A and B are equal partners ina firm. They admitted C as a new partner

Their Balance Sheet on 31st December, 2016 is as follows -

Balance Sheet
(as on 31st December, 2016)

Liabilities Amount Assets Amount

(%) (%)
Creditor 10,000 | Cash Balance 2,000
Bills Payable 8,000 | Debtors 7,000
Capital- () Stock 3,600
A 6,000 Furniture 400
B ~4.000f 10,000 | Plant 15,000
28,000 28,000

The following adjustments are to be made before C's admission—

() Fumniture's value ¥ 250.

(i) The provision of undisclosed T 300 on debtors.

(iii) Investment ¥ 600.

(iv) Newly admitted partner C brought ¥ 4,000 for capital and
T 3,000 for goodwill.

On the basis of above information prepare Revaluation A/c.
37eqr / OR

‘a7’ o ‘9 U wE § WEER § ST 3:2 F U § a-wif aied ¥
SRR R A ¢ o e T R T 230,000 6 % e
T I F FA @A T 16,000 | T 10,000 TH TA € | SR
ISit wfafieat Fifw

A and B are partners sharing profit and loss in the ratio of 3:2. They
admit C for 1 for share. C paid ¥ 30,000 for capital and ¥ 10,000

5
out of his share of goodwill ¥ 16,000. Pass necessary Journal Entries.
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. vy i g A E
*OM N v e o g #4430 R AT
U 2 ) g fspz a1 featted k:
fazar
- (37 fomuam, 2018) o
re ufer
fum (2) wafwat ()
AR 45,000 | 2781 20,000
MR 20,000 | firfrw waferat 70,000
‘f*'- (¢)
‘' 10,000
‘v’ 15,000 25,000
90,000 90,000

v fufy ¥ wif W fwes gam) Bl @ ¢ 15,000 Tl et A
60,000 TYH! R 1 TTeR A AT

A and B are partners in a firm, sharing profits and losses in the
ratio of 3:1. Their Balance Sheet on 31st December, 2018 stood as

follows :
Balance Sheet
(as on 3 Ist December, 2018)
B | A A
i . Amount mount
J Liabilities (7 Assets ()
Creditors 45,000 | Debtors 20,000
A's Loan 20,000 | Sundry Assets 70,000
| Caputal- (%)
A 10,000
B _ 15,000 25,000
90,000 90,000

They decided to dissolve the firm on that date. Debtors realized

Z 15,000 and Sundry Assets realized ¥ 60,000. Prepare Realization A/c.

(6]
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et/ OR
TTLHS WA AR F A W sy 6 yfafeod e
On the basis of deals of the above question, pass necessary

Journal Entries.

fadvr ' mamiqu&wﬁmmmm?immwsamﬁmﬁﬁg,m
YH W Al fawea &)

Instruction : Question Nos. 16 and 17 are numerical questions. Each question carries
8 marks. Each question has an internal choice.

WA-16 X fafds 3 ¢ 100 @ 10000 2w Frifr fFg 7 Wt 30 SR W

T 40 EA W, ¥ 10 JUH N W @ ¥ 20 3ifaw e W 27 4wt
nftrat uremg yra € ) R B g ¥ s g gfafet
g

X Ltd. issued 10000 shares of ¥ 100 each, payable as ¥ 30 on
application, ¥ 40 on allotment, T 10 on first call and T 20 on final
call. Assume that all the money were duly received. Pass necessary

Journal Entries in the books of company.

HIET / OR

T& FOA 4 100 a1 2000, 5% ForaA fifia foew € 10 smEed |,
T 40 AW W, T 20 YW a1 W Y1 99 e A W 3T 41 wwa

ufer i € 7 | FEE B Gl W Savad Tei gfafeal S
A company issued 2000, 5% debentures of ¥ 100 each, amount
payable as ¥ 10 on application, ¥ 40 on allotment, ¥ 20 on first call

and the balance amount on final call. All the amounts were duly
received,

Pass the necessary Journal Entries in the books of company.

(8]
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w17 X, ¥, ZGEER ¥ fomre ey~ fasrse srqaa 3 : 20 1 8131 faea 2010 €
,Ymﬁ@mmmm%,mmaﬁmmﬁmzzo,uoo
mw'%ﬁﬁ“mwﬁaﬁgﬁraﬁﬂ,omaﬁqﬁm
& T e S | g sy A o 1 SR R e |5
aﬂﬁmmqﬁ’ﬁ@%wmﬁmﬁﬂé%ﬁﬁﬁ%l

X, Y and Z are partners sharing profit in the ratio of 3 : 2: 1. X retires
from the firm on 31st December, 2010. The determined amount of
his share is ¥ 20,000. It is agreed that this should be paid by annuity
of T 3,000. The first payment to be paid on the following day and the

(8]

subsequent payment on 1st J anuary of each year. Prepare the Annuity

Suspense A/c for 4 years charging interest @ 6% per annum.

HEET / OR

‘&' T T T O EERR § ok e ) e % % %a%

T J fernfra s & 131 femvar, 2018 #Y W Y faiig feufer faerm

Frefafaa € -

(31 fE@m=R, 2018)
i () Hufvrat T (T)
GEE 19,000 | §% H Uhg 2,500
<7 foer 5,000 | 3T_R 15,500
gf=a fafy 12,000 | 3ifer &l 25,000
‘&' 40,000 iR 35.000
‘g’ 30,000 o 45,000

‘|’ 25,000 95,000

1,31,000 1,31,000

NM-43C



(R
e SR ) e, 2019 @l yud €Al 1 sae frefertad aamree
T E
(/) % 1 wanfa &1 ged T 18,000 TIEN T E |
(if) T 9T 10% qYUT HIZUME! 9 15% B &= § |
(iif) Y F1 g 20% B 3 a7 F1 o9 Tl 10% T 95H & |
(iv) 319N T HIY HI T 1,950 TH TG ¥ |
SWF HaEq ® wEifad w0 & fou grjeais @ a9 = 9
@I 99130 |
A, B and C are partners in a firm sharing profit and loss in the ratio of
1 .
5, %, % Their Balance Sheet on 31 December, 2018 is as follows :
Balance Sheet
(31 December, 2018)

Liabilities AT;‘; nt Assets AT;‘;M
Creditor 19,000 | Cash at Bank 2,500
Bills Payable 5,000 | Debtors 15,500
Reserve Fund 12,000 | Closing Stock 25,000
Capital A/c— (%) Motor Vehicle 8,000

A 40,000 Machinery 35,000

B 30,000 Building 45,000
C 25,0001 95,000
1,31,000 1,31,000

B retired on 1st Jan., 2019. Following adjustments are to be made :
(i) Firm’s goodwill is valued at ¥ 18,000.
(i) Depreciate machinery at 10% and motor vehicle at 15%.

(ii}) Stock value increased by 20% and building by 10%.
(iv) Bad debts reserve increased by T 1,950.

Prepare Revaluation A/c and B’s Capital A/c to execute the

above adjustments.
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wug-(4) / Section-(B)

(Analysis of Financial Statement)

P I 18 TH 19 ooy 3wy § | v ¥ W 1 80 i §)

Instruction : Question Nos, 18 and 19 are very short answer type questions. Each

W -18

U¥-19

der

Instruction

y-20

question carries 1 mark.

 —— (1]
Choose the correct option :

Y a3

(37) AT ST (&) SHETIhdl I

(8) YA & srum (3) Fhamiterdl S

Stock turnover ratio is :
(@) liquidity ratio (b) profitability ratio

(c) solvency ratio (d) activity ratio

F& AP, Fo fama & e el et ¥ 2 [1]

Where is total cost equal to total sales?

. WYT FHE 20 W 22 T Y IWE T § | VAR TH W 4 3% Fraifed ¥
yalF Wy T Al fawew €1 https://www.cgboardonline.com

Question Nos. 20 to 22 are short answer type questions. Each question
carries 4 marks. Each question has an internal choice.

FfefEg TAHR Y T S I SIS [4]
o Fufd T 1,00,000, aioyrd =9 ¥ 60,000, TR-=e] wfaa ¥ 20,000,
- dufwal € 50,000

From the following information, calculate Current Ratio :
Total Assets T 1,00,000, Shareholder’s Fund X 60,000, Non-current

Liabilities € 20,000, Non-current Assets ¥ 50,000

NM-43C
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JH‘m"f'UR

YR Ty s .
T EDEN B A s w1 wirees g

TR 50,000, e sinford ¢ 50 000, Tt ¥ 25,000,
TR BT 25,000, #3230 000

Calculate Liquid Ratio from the following information

Current Liabilites @ 50,000, Current Assets ¥ 80.000. Stock
T 25,000, Prepaid Expenses ¥ 5,000, Debtors € 30,000

TR 21 f?-i"!f:mfummtqmiﬁ"r&n#m-!fww- +
Discuss the importance of cash flow statement (any four)

ww / OR
T yae fovercor &1 wiand ferfagn (#¢ wrm)

Write the Linutations of cash flow statement (any four)

UA-22 R IEE R 9eR | WE G vae #1 ToE # 4]
| | 31-3-2018 | 31-3-2017 |
| |aa{0| = | |
[ | (%) ; (%) |
[mmﬁﬁamawjmw’ 54,750 27,000 |

i | '=

| e wifegl 11,250 13,950

|

| 3w = 10,200 17,850

I

! T2U7 - 18,000

J ydzd g 14,000 12,000

[ T e 32,000 44,000
L

NM43cC P.T.0.
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ities with the help of the

Calulate Cash Flow from operating activ

ﬂ’“”“'”ﬁl mformation

[ 31-3-2018 | 31-3-2017

Particulars (@) )
Balance in Statement of Profit and Loss 54,750 27,000
Trade Receivables 11,250 13,950
Outstanding Expenses 10,200 17,850
Patents — 18,000
Prepaid Expenses 14,000 12,000
Trade Payables 32,000 44,000
AT / OR
Frfefaa ol § yeem 3 e UHS &I MUAT HIAC
Prarcar T 2020 I 2019
(%) (%)

QTR 15,000 12,000

Hd &g 3,000 1,000

qaed =g 2,000 2,500

SRELS 13,000 15,000

a5 2020 % ERM Y AT T 25,000

From the following information, calculate cash

from operating

activities :
[ Particulars Year 2020 Year 2019
) ®)
Debtors 15,000 12,000
Qutstanding Expenses 3,000 1,000
Prepaid Expenses 2,000 2,500
| Creditors 13,000 15,000

Profit during the year 2020 is ¥ 25,000




~ {15
e .‘q \\-1 ‘ Tq?':i _ﬁlrn—ﬁ'l a THE ‘
23 WM 390G Yy § ) =g gy Y6 A vifrg 2
[ e |

r_..,;m.-‘r:'m: D Q '
: ucstion No IS
NO. 23 is long answer type question. It carries 6 marks

ava-23  (Sdm favdmi & s o
o E Jeyq) ) ‘?‘I'HE{Q (a'flé )i “ y(}“()]
ISCUSE the . .- =
Scuss the objectives of Financial Analysis (any six).
3erar /7 OR
A Seaar favero § siw Hif (6]

Distingui :
Istinguish between Horizontal Analysis and Vertical Analysis.

WUE-( /) / Section-(C)
HIET TR

(Computer Accounting)

AT : ¥ HUiH 18 T 19 Aoy 3907 w1 1 9% 3 w1 o frifa €

Instruction Question Nos. 18 and 19 are very short answer type questions. Each

question carries 1 mark.

uvq-18 Wﬁﬁﬁﬁl’f{ m

Choose the correct option :

frefafas § @ FH-T1 eaR T R ?

(o) wE () #=Y
(g) AR (7) MS 3ed
Which is not a part of hardware?

(a) Keyboard (b) Mouse

(c) Monitor (d) MS Office

yyA-19 @G, 1T AH SR
Write the full form of C.P.U.

[1]

P.T.O.
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Frder : W i 20§ 22 7 e T wed § | GF T W 4 I Fruffd €

Instruction : Question Nos. 20 to 22 are short answer type questions. Each question

carries 4 marks. .

w9q-20 maévaﬁammﬁﬁm(#@ o) |
Write the necessity of Database (any four).

3rear/ OR
?s'laﬁrquﬁawnaﬁ%amfﬁrﬁaq(mml

Write the functions of Database Management System (any four).

TA-21  ERAH T Wi 4§ siow w Fifr (¢ =0 |
Distinguish between Hardware and Software (any four).
3rear/ OR
FII F HheAHAR | 3R W HIFAT (FE 70 |

Differentiate between Computer and Calculator (any four).

WT-22  FEIiHd @R Yol % S IR (FE w0 |

Discuss the disadvantages of Computerized Accounting System (any four).
3rgar/ OR
AGIF  FOR T Yfaehl FARY  hitps://www.cgboardonline.com [4]
Write the role of computer in accounting.
feor : WY I 23 I8 W T B 1 39 W W 6 siw Fruif §
Instruction : Question No. 23 is long answer type question. It carries 6 marks.
WPT-23 ol R o fedwand fafae (9 @) [1+14+1+1+1+1=6]
Write the characteristics of Electronic Spreadsheet (any six).
3T/ OR
93 Bt A H TG B AT I 7 91 () 2

What are the main elements of Payroll Calculation (any six)?

[1x4=4]

[1x4=4]

[1x4=4]
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